Chapter 3 Test Review



10. DE, AB, and GC are ___? .PO\( O\\\Q/\

11. DE and BE are ? . @Q( @Qﬁd\ CW\O(
12. BEand GCare 2 . SCLUD

13. Plane GAD and plane CBE are 2 (UOS O\
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—> s 2

14. Name a line parallel to QT"\’} M\j \ NN >
> &=

15. Name a line perpendicular to QT‘"% (UM (N
16. Name a line skew to QR. T X . Lo, XA \

17. Name a plane parallel to plane QRS. U\\/ U\>
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21.
22.
23.
24.
25.
26.

/8 and £ 12 are

/9 and £ 14 are

/10 and £ 12 are
£ 11 and £ 12 are
/ 8 and £ 15 are

/ 10 and £ 14 are

9\11 13115
8\10 1214
;
angles. C
angles. \(/\E
angles. SST,_
angles. QI
angles. QVE

angles. C
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14. AB 1. CB

15.n L m

Y3




. o DEVELOPING PARAGRAPH PROOF Fill in the A
lettered blanks to complete the proof of Theorem 3.2. ¢4 D

GIVEN » BA | BC

PROVE " £ 3 and £ 4 are complementary. / 4

\ \ ¢\ \r\%

Because BA 1 BC, LABC Isa___a. 3 and mZ ABC = ESO
According to the ?éﬁdd%stulate m/3+ ms4=mLABC. So, by
o m%% mL q?
the substitution property of equality, .+
By definition, £ 3 and £ 4 are complementary.




7) (continued)

18. @ DEVELOPING FLOW PROOF Fill in the lettered blanks to complete the
proof of part of Theorem 3.3. Because the lines are perpendicular, they
intersect to form a right angle. Call that £ 1.

GIVEN » j L k, 21 and £ 2 are a linear pair. ol
PROVE » /2 is aright angle. 1 k
- ) E
2
£Z1and L2 are a )
linear pair. J Lk \
Given Given
[\ & L0 o SUee-
Z1is aright 2.
Linear Pair Postulate Bk of I Tnse
ms1+ ms2 = 180° ms1 = 90°
Cbof SUEPA LS C. 0. oF rignt L
90° + m£2 = 180° ML2 g0 £2is aright ~.

d.Suestrucnon Subtr. prop. of equality 20 oF C\ L



7) (continued)

19. o DEVELOPING TWO-COLUMN PROOF Fill in the 4
blanks to complete the proof of part of Theorem 3.3. 1
- >
GIVEN £ 1 is aright angle. 3
\

PROVE /£ 3 is a right angle.

Statements

Reasons

1. £ 1 and £ 3 are vertical angles.
2. 2/.\= 1D
3. mL1l =m/l3

4. £/ 1 1s aright angle.

5. 2?2 a1 \=90

6. 9 QD =mLD
7.2 1B S oA L

1
2
3.
4.
5
6
7

. Definition of vertical angles
. Vertical Angles Theorem
2T OF 2 LS

? Gen

. Definition of right angle

. Substitution prop. of equality
. Definition of right angle
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21. 22.
(2x + 10)°
DK 4)}%\ >
(. 4+ \ -
K:%D
X=2% =



11) 27. @ DEVELOPING PROOF Complete
the proof of the Consecutive Interior

- - 312 >
Angles Theorem. / 4
GIVEN » p || g — ] L -
PROVE » £ 1 and £ 2 are supplementary.
Statements Reasons

1.2 (\‘D(\% 1. Given

2. /1=/3 2. 2R\Y. \rmiv. Vi,

3. 200L\ =D 3. Definition of congruent angles

4. V124 LD ore. o WA PouC 4. Definition of linear pair

5. m/3 + ms2 = 180°
6. 2 Ll v~ = \RD

7. £ 1 and £ 2 are supplementary.

5. 2 L0eor Voo YosTlaR.

6. Substitution prop. of equali(y
7. 2wl oF Suee. LS
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- \ \\ > - \ K > - \ \ >
Al Converse AE Converse Corr. Converse
(3.8) (3.10) (Post. 16)
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23. 24.

-t

: o

d

-

b
-

Yes, AE Converse Yes, Al Converse No

(3.10) (3.8)
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8. GIVEN » j || n, k| n 9.GIVEN » j Ln,kln 10.GIVEN» £ 1= /2
\ \ n \ X
- 1 >
\ A\
3.11 3.12 Al Converse

(3.8)
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" . 1120/'ﬂr
. 112°/ .
/ J

Corr. Converse
(Post. 16)

Y=

12.

Y=

AE Converse
(3.10)

N,

Al Converse
(3.8)
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27. slope = 3
y-intercept = 2
%:mwvb

E/B: 5}(*1

28. slope = :1—

y-intercept = —4

%——%x—%

29. slope = —%

y-intercept = ()

_2
AT g e
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36. P(0, —6),m = —2
%:mx*b
_LO—_-QLOB*’\O
— =D+ o
— o= b
%Z—Q%_b

37. P(—3,9),m = —1
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7.m1=2,m2=—%
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38. y = %x — 1., PO, 3)

=~
:W\X‘\_b

= (- (0) To
A 2O

SRHERAE

40. y = —4x — 3, P(—2,2)
M=
—NATYD
2= (KD +o
) =N+
2'2 = o
%:—‘/L-\X'\'?_\/’L




